
f(x) =: ;a0  +
m

13  (a, cos nx + b. sin nx)
ll=l

lerr&l

an  = $ r-, f(x)cosnxdx;  n =O,I,II,...

LLI:: b. = + r, f(x)sinnxdx;  n  =  1,2,3,...

f(x) = ;
m

a0  + Z (a.cos
II=1

y + bn  sin  !y )

an  = p f(x) cos ydx; n=0,1,2,...

uw’. b,  = Jj-s’_ p f(x) sin 7 dx ; n = 1, ;!, 3, . . .

1.3 LB0  f(x) QfJ1uuon1n&J41rl~fl  (1.1) LLA:  (1.2) q~~oyrlsaJ$inidl~~a

nnx
( p+b,sin”F)a. cos

lutiin a. = $ ~:+zf(x)cos  y dx ;’  n = 0, 1, 2, . . .

HA 446 (Ii) 29













1 x3= - -
R 3 II,

= & i(n)‘-  (-#I

= & IQ1

2n2=-
3

a, = f(x) cm nx dx ; n = 1,2, 3, .

= a S”, (x2) cos nx dx

u zx X2 !A%  dv  = cos  nxdx

du = 2x dx sin nxLLAZ  v = ~
n
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b, = f(x) sin nx dx

= $ S”, ex  sin nx dx

51
2( - 1)” sin h(n)

n  ex  c o s  n x d x  = __
1 + n2

ex  sin nx dx = n

- 2( -- 1)” sin h(n) + 2( - 1)” sin h(n)

n n(l  + n)’

= -2(-- 1)” sin h(n)

n

- 2( 1)” sin h(n)-- n2zz
n ( >1

- 2n(  - 1)” sin h(n)=-
1 + nz

f(x) = i( 2sith(n))+  .I,[$ [ 2(-~)~i~~(n)  ]cosnx

+ $[ -2n(r:)“.$nh(n)  ;sinnx1

= 1 2 sinhOd + _2 sin h(n) E (- 1)”
2 II

(cos nx - n sin nx)
71 n=l 1
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-q _sin (a + n)x + sin (a - n)xz
21r (a  + n) a-n IL

1
2n 11

sin (a + n)n - sin (a + n)( - n)=-
a + n 1

+ i sin(a  -
n)n;i;(a  - n)(-n) I]

LI.2 sin (a + n)n= + 2 sin (a - n)n
2rr a + n a - n I

sin (A + B) = sin A cos B + cos A sin B

sin (a + n)n == sin an cos nn + cos an sin nn

Uoi cos nn = (-  1)” LLW::  sin nn = 0 k%IfU

sin (a f n)n  ;= sin an (-  1)”

lu~luoJtt~~riit  rws1ri1

sin (A - B) = sin A cos B - cos A sin B

sin (a + n)n = sin an cos nn - cos an sin nn

= (-  1)” sin an

1an = - [
sin an(  - 1)” + sin an( - I)”

n a + n a - n 1
sin an(-  1)”

[
1 + 1=

n a + n a - n

sin arr(  - 1)” 2a=
n [’a -n2 1
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3in’i p7oynruvJiiufi%

f(x)  = ; a,,  + ,i, (a” cos nx + b. sin nx)

nlfil a0 wngm

a0 = ; il=f(x)dx

1= - [e,nOdx  + j;(n  - x)dx]

= i,; ,“, +.x1;-;  I,“]

1
-I

72 2
R - -t  + ?12 - T I

an = g:,f(x) cos nx dx

= $:so_, (x)cosnxdx  + S,“(K  - x)cosnxdx]

1 0= - s”77 Is -nxcosnxdx  + n o cosnxdx - irxcosnxdx]

%in7rul

s x c o s n x d x  = j@!!?!?)  - j (  sinnx  )dx
n n

LW7lxa"  u4

s", x c o n n x d x  = x(+)1”,  - j”n(%!+x

= [ 0 - sin(-nn)  ] + y iI”_
n n

HA 446  (H) 69













‘I
l-ix ; - n<x<O

14. f(x) =
R-X ; o<x<n

a0 = $ I’“, f(x) dx = ; 1,”  f(x) dx

a, = f(x) cos  nx dx

= 3 iif  cos nx dx ; awa1rd1  f(x) aOPaGI;16Cud 91
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